[EETARAZND-D=, EFETAFO=DOM]

B THEERRMOBERUVHE

EREEMLERGETEECRE ([ RER ]

(% 5 £ 6

WEKHAE S 5 £ 6 A 1 H ~ ¥ 5 &£ 6 A 30 H

AE)

1-1 #SEERHE (RED)

KEREOERERALBEE1E) [RAZROEDZ £ vk, RTEZRKOEDORE KN + K A]

B B (B () IRV Tk () A (T BBk Tk

E752F v 78 (GRIERT) 794.79 (t/B) RIEAR 4 %€ B HB|4WM &£ AB HB|4M £ B B|H4WM &£ A A
BT (t/B) REREHIE>NIH 41 & A H©H| %M &£ B A@|HdM £ B B|4M & B A
TLLT (t/B) REEH
HhEHE (RREEED) 1587.9 (t/B) RERE
AR aAvsY— T RUBHE< T (BRESESD) 591.69 (t/B) BRoHE =) 45 =) 45 ¥ =) 45 5 45
RAEEY 96.53 (t/B) PRELEBEREL-EAH

LZDARAE
BARE EEXRBA [B+-£0to= €t/ H+=£0t0HE 7]
FFRIEAH S 4 & 2 B 24 H
AEEAH 4f1 5 %&£ 6 B 30 H
HIERR 1,059,036 m
EREREOERKR B+-£0t0= t=. H#+-£0t0HE A=)
= HEE 464 [E]
REREERESYUNOEZNO &0 25 B =]
REXIGRADRD Shi-EHH A0 25 B =]

A0 25 B =] R0 IR (EEN) R+ —%0t0=t o, H+-£0EOE X al
A0 25 B =] HEEEE
s AR HEt MKk

BREKOBODXBRENEMARLEBERA 1E) H+2K0tD= € w kA, B+ZROELDE K vkAl =REAH <f 5% 6B 30H < 5% 6A 30H S 5% 6B 30H < 5% 6A 30H
IRERFR B A BEROGHE el A A 5
RIVERR 4f1 5 £ 6 B 8 H LEGEBEXHLAEAR (471 &£ B B|4M #%£ B HBH| %W & A B|4W £ B ©
RERREIBONEH 4% 5 %£ 6 A 15 H L ZDARE
BOD 1.6 mg/ ¥ EEEE 20mg/ LT
RROEE 5 - (&
DELEBEELLEARLZO
A%




